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Please check whether you have got the right question pa per.
Solve all questions after exercising internal option. : £
Working notes are allotted separate marks.

Figures to the right indicate full marks.
Use of simple calculator is allowed.

N.B:

AU

1. A) State whether the following statements are True or False and reerte the sentence "(03] 2
(any Eight) : oAk SEeT R
1) Under Hire Purchase instalment is treated as. hn'e prlce
2) Rate of Gross Profit indicates profitability.of each. dcpa.rtme_
3) Weighted average method is sultabie when thc lots a
identifiable. S

4) Capital receipt is recurring in narure _,;;-;,
5) Current assets are long-term assefs;> 4
6) Different firms follow dlff'crcnt accountmg pahmes
7) Abnormal wastage of’ matenal shculdnot be mcludé
8) Interestis recognized on rccez_pt bas;s :
9) Drawmg Account anays CI'Bdlt balance

10)

07)

B) Match the follcw;ng and rcwrite (any Seven)

Column ‘A’ TR | SRR s (Ct)lumn ‘B’
1) Substance aver form L ‘a)y .'_Current Assets
2) Revenue from-salss 5 S Initial payment

! ‘_\-g_)'ﬁ_'-.' ‘Current Liability

) RetaﬂMetlmd P (
_-;) Wages paxﬂ to Twaﬁéers, for --d)‘_'""'- Value of Asset

“&3 Inmﬂanon oﬁmachmery ;
2R =~ 5) . o5 e) oo ok
3 15) Ccstnfcamecn T "‘1 :-; t) AS-1
.-3'3 Itlsul’mmccf asset ’ | ® Revenue expenditure
' 'A”Dcw;rpaymcnt. = h) Capital expenditure
5 i) AS-9
R
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2. A) From the following information provided to you by Kumar Traders, you are required” . (15) <5 oy
to prepare Departmental Trading and Profit & Loss A/c and General Profit & Loss Alcs & “ Sl

from the following information provided to you for the year enﬁeﬂ'Bl*E@Emg\. TS & <A
Particulars | Dept. P(7) | Dept. Q(3) Dept: R (T) :Qom“_mbn_ o 2
Sales 20,000 40,000 80,000 |5 S i
Purchases 15,000 10,000 S S SR
Salaries 5,000 f000 | 9000 | SRl A
Opening Stock 18,000 17,000 000 [ = o . ¢
Closing Stock I 20,000 21,000 20,500 IS
Audit Fees i = = - = 4,000
Delivery Van Expenses | - | - T[S F.5,000 .
Commission Paid : E 5 3,500
Discount Received - - = _3,8:00
Intercst Paid q 3 y 2,700 J
Travelling Expenses H - - e _ 4,700
Freight lnward ! — 3 = 1500
Octroi Duty | = : : 1,800
Printing & Stationery - : " = 2,400
Postage & Telegram > - - 2,200
Telephone Charges : - - 1,600
Power : : - 5,400
Repairs to Machinery S : - 9,000
Depreciation - - : 6,000
Packing Expenses = - - 3,000
P ; : - 8,400
Adjustments :

l.  Area occupied by three departments P, Q and R is in the atio of 3: 3 : 2,
2. Value of Machine used in Department P, Q and R is ¥40,000, £30,000 and

SR 3. mmwmmdindepnth,deRismm,zmﬂp
4. Printing and Stationery to be allocated in the ratio 4 : 3 : 2.
OR
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Paper / Subject Code: 81401 / Financial Accounting-I

FYBAE (8)

Kothari Transports purchased two trucks from Mahindra Ltd. on hire purchase system (15) ‘
on 1* January, 2015. The cash price of each truck was % 1,25, 000 The payment WaSy '

made as follows : Sl gl s

’ 01-01-2015 % 30,000 : j._\each trock
31-12-2015 7 35,000 |7 eachtruck
31-12:2016 T40,000 ) - I
31-12-2017 Z 45,000 TR 2l b 2y g
Depreciate @ 20% p.a. on original cost is charged. : - > SE R
You are required to calculate interest per year and shcw the necessaIY accountsm the "‘,/-; .
books of Kothari Transports. ey j‘\.«_. 'ut-\_:‘ -_’-~' - ;,_ ':_::" b
3. A) From the following Trial Balance of Mr Amav as on 3{" March, 2018 YO“ a“'Q (15)
required to prepare Manufacturing Account, Trading ancl Profit &1055 Acoatm_t‘far\the
year ended 315 March, 2018 and a Balance Sheet as on that date~ Rl S
! Trial Balanceas on 31" March 201§ ‘x\ \“; 1 ¢
. .'?* v Al

Particulars B Debft(!) )
Purchase of Raw Matenal‘ N SR ;- \ 5,001
Sales ¢ CEEETHITOEEE
Opening Stock” AL ST RSN S T 205 O
- Raw Matc(ral T 7 S
—Work—mﬁproggess = X e
- Finished Goods. G R gl N2
Carriage Inwards~ &7 <72 o/~ 2 L QRS B 0231000
Direct Labour RS i
Rent ofFactory o Ry | (20
Electticity - - 2 e S T S SRS 27:000
Factory?owah& Fuel B N R N R 215000
_|-Office Salaries - .}L \ Q= \“'.
2 Seﬂ:ﬂg.& stmbunoanxpenses

e

T

b gmdry Deﬁ’fors 2 = _ %

‘L'-'":"'- : DiscoumAlloweﬂ S A Az_\ " 5,000

S {BEERs S S e S 9A 2,000
_\_\*\_( ﬂ‘ onvismbni‘gr‘B“ﬁd.Dehgs' T 3000
e _?“..':.‘"\"*- Ci'edlm _ “‘w‘.\ .-\“.-_"‘-"':_; : 7000
G [PillaPayeble » oo
e ‘Discount Received * OG0
PORE AN ~ 1,05,000

EIE Lo P 15,000

A 95,000

Y 32,000

5,000

Total

7,08,000

7,08,000
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Paper / Subject Code: 81401 / Financial Accounting-1

Additional Information =
1) Closing Stock : -‘~'..
Raw matenal 16,000 @1 A B SRS TN
Work-in-progress 10,000 r % ST T N
Finished Goods 228,000 F o 4 -: SR R
2) Outstanding factory rent is ¥1,000. : 3 & ‘-"__H '::_:.'\\‘_-'\" S
3) Electricity is to be apportioned in the ratio of 2= 1 ta factory & Qﬁce. - .‘;G' S “ -2
4) Depreciate machinery @ 5% p-2. and delivery m@ m%p R "_3; _\1 oSS
5) Debtors include 15,000 due from Pratik an amount, of%‘S.DGD 1S+ alsoﬂue fops s <
him and is included in creditors. SE O P Al s k““‘“
6) Provide reserve for doubtful debts @ 10% ondeb{ors : ;;1. ':_j._—{ : .-;Q— R
OR ; S F 5 -i' . \‘.\Q‘:_ ":...

3. A) Mr. Darasingh prepared his Accounts on 31% March, every year :Dna to: sa}ne - (08)
unavoidable reasons, stock taking could be done only on 15% A‘pnl,—ZilI& Wl:tm‘ﬁle
stock was found to be ¥60,500. The following mformation is pwv:&ad ﬂ:rr t]:e pa;:lod
between 31% March, 2018 and 15® Aprl, 2018 : " ERORS

1) Sales 45,590 : : FO S SsEn ~

2) Purchases 16,710 DL T B s an s
3) Sales refurns were Z1,200. : ) = -: S

4) On 15® Marchk, goods having sales value of ?6,800 were sam on sale or retumn
basis to a customer; the period of approval being fourwaek& He returned 40%
of the goods an 10® April, approvingfhe rest. .+ <. -

5) Mr. Darasingh had- received: goods cesting ?8,003 iil March for sale on
cnns;gnment ‘hasis. 20% of the unodshadheensold by 31= March and another
40% by 15= Apn_l. 'I’hﬁesales have not been mcjuded in sales of £45,590 given
‘aboye. .-

You are required fo. calcn]ate the value ofsmck on.31% March, 2018 by preparing a
StockRecqncﬂ:aum Statement assummg that goods are sold at the Profit of 20% on

_sales.
B) Nﬂ?ﬂl'fﬂ»pmhces chgmtcal 6. me the followmg data, calculate the value of closing  (07)
¥ Sf-Oﬂ'i. SN _
=5 : ﬁJIeCtMmﬂa]s et % e per unit
ot DirectLabowr %2 perunit
A TS . Chmge&bleEquns&s : : T3 per unit
s .. 50 MNommal Capacity. . 12,000 units p.a.
TR ‘."h' < Aﬁﬁlﬂmcﬁm : 10,000 units p.a.
S ‘- _ Fmedmmwerheads . 260,000 p.a.
o2 1 = mmfmémmtsufclomgsmckatthaendofﬂ:eyear
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i Paper / Subject Coder K401/ Bnaneial Accounting:1 FNR AR CY
“ Caloulate e cost of goods oK and closing stoek wnder welghed average cost of - (18)
~ aventony bang ‘

D Poriodic System

%L Porpotal Rystem 2
.
March 1 Stoek in hand 00 units 29 each
March 08 S00 wnity e11 each
March 10 1000 units @ ©12 each
March 18 200 waits @ €10 each
Niarch 24 SO0 units €12 each
March 30 400 units @ 13 each °,
lssues March 02 400 wanits
March Q9 300 ity
March 16 900 wtg x>
March 23 300 units
Mareh 31 600 units
OR
B) State with reasons whether the follewing expenditures or receipts are capital or .
revenue. &
1) Paid £2,00,000 as a Custom Duty on achinery punhasgsi‘.mrm USA, (02)
2)  Paid subscription charges £6,000 for Trade Joumal. - A (02)
3)  Premium of £3,00,000 payable on redenption giqubtn’t\\m\ (02)
4)  Losson sale of plant and machinery Qf?&O,OOO (02)
5)  Recovery of Bad Debts from Sarita of 5,000, - ; (02)
6  Amount of 50,000 received on sale of old fumiture. (02)
) Sold of Equity Shares (held as investment) for £20,00,000 and suffored a loss (03
of 20,000, % ;
] A) m the following and give 2 examples of each ¢ : (08)
~ Floating Assets i

& Fietitious Assets s SRR A e
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Q:P. Code :24466_ - -
e - n . ~N - ) =g
o g O \‘};'- e . o

PO
13_ ‘“;T B A

R e

» A 2 .
9. The model and formula of Economic Order Quantity was dEVE{l’-‘_R??:B\_ﬁ;\%ﬁjH;@@
a. F.W.Taylor T DT
b. F.Wilson Harris
c. F. Walter Harris
d. F.W. Marshall
10. —— are not recorded in the books of account
a. Implicit Cost
b. Explicit Cost
¢. Sunk cost

H

d. All of the above SRR AP
Q.1 (B) State whether True or False (Any Seven) SR
e g ._\\: ‘_\-."

1. Cost Accounting is a branch of Financ{aﬂ"éQ&}\ﬁu‘ﬁﬁﬁéﬁ ;
2. Conversion cost is equal to direct \_‘\La“gg"._-;a‘-[‘)‘d?_fgg‘ftq}"ﬁ\pxﬁer'liqﬁd\{
3. Notional expenses are not inclu{e&ifﬁ}@syg&ﬁaﬁiﬂ’g’.dbgﬁ! o
4.Fixed cost vary with volume ratﬁemb;fi_jﬂ:pe_ £ o
5.FIFO method of pricing matgfigl;l$6§¢g§ﬁl_tsfll’nfﬁikﬁ_ér profit.” =
6-Bin card shows the value of a-materialat any movement of time- -
7.Labour turnover is the@d‘rémént’c;t-ﬁpngléj Qﬁfs_dftﬁé 'ﬁr:gé'qifatﬁ'on' R
8.Merrick differential piéfé\:a"t_gﬁs_\;_gt\érjﬂs_'-le_s's 'pd’h{fﬁ@&gd féiyjﬁr"ﬁ;s?ém o
9.Pre-determined overhead rates are used only in ‘St%ﬁﬁgrd'_cbét‘i;rfg_éyﬁfém& 5

10.Waste can be ._rgaii}_‘éq.Bq&";\c.rgg‘-c,gh'\hdﬁ_\bﬁ‘l:"e"a‘_liz\erd"-'\ S AR

NP i

2 G T
r ) v - o - ~ T ay
DV st 2o ¢ g Y

Q.2 (A) The followi_ﬁg-dété:dfé_lﬁ avaijlable jh?lj_e;spé_t{é%ﬁj:&)h;}éﬁ(ﬁ Qn‘fo’\istUhEgs of material Z 08
Invoice Price:- ey : :

["Rs20perkg: -~ .~ >
2 [x30%.0f Invoice Price

N e = r L . P 3
§§If§‘1-e‘|§f:_\;_\ o= > 1;1‘9’_% QF Invoice Price including
S PV, | -ExciseDuty

:Trngj:gl‘Fmgn}_a; R : 10% of.Invoice Price
= Jiasyrance = AT R

1% of aggregate net price
: il S T S O N, OV
L s ;COST ofgmgarrler lesuf)\ﬂ%f\gbr]\j:ﬁmn‘rﬁrﬁ?kgg‘bf material. Rebate is allowed @Rs.40

SR ‘_Flefﬁnﬁfih?r; if tdrr_md—ﬁr‘lyﬁm%lfﬁ\geik;?‘“ hicH is a normal feature.
. <.~ = = - rejected on jnspéction.and hb\téa&ﬁﬁi@a%” t\:

Pl S NS aleal el
: Cost ofinpi@gfg%h@\gdﬁnﬂ@o.;m% ofthe cost of material ultimately accepted.

< X_ggﬁ_af% a_egl_uﬁ@ﬂ@gggg,ﬁgf‘:,ghﬁ?lq&dig&bst per per kg .of material Z
T ™ s 2] --J_b:v;\‘\'-".: -“:‘_

-~ Acempany manufactires 66000t of a rod
D ST ke gy L M e St uc
_ - . - Thepurthase price.of tha faw rnaterial i 5 Eamonth
o SR t':'e‘\IaI‘r""'[aé“" ﬁg\ W material is Rs.15 per kg
¥ o A 8 o b matedal vaties om 150 kgs. to 450 kes. per w i
RENNE D e e n}}ii\.ﬁb% et kgs. p eek. The average consumption being 300 kgs. The

S Delivenycharges - U 1 v e T

% W R

One container load of material was

S el AT L R R e

cs oo o o - Yousrerequiredito calculate

: ] o \R?ﬁ‘\’e" ;gija_ht-‘-\';'/:'?
oD o Re-ordediewvel T & o

L LK DY Tt N

= oo U SMinioun stockYevel

Ent 0 TN o= A o

b A S A AN L SRR

B W LTS SGER

.‘\“'._ RS e '”\4“ Page 2 of 6
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Maximum stock level

Average stock level (apply both the formulas)

OR

a) The store ledger account for
quarter ended 30.9.2016
Date Re:e]pts
Quantity Price Quantity Price
{Units) (Per Unit) {Units) {Rs.)
i} I 1500 -
uly-01 (Bal SFa
b/d)
July-10 3200 2.20 = =
N buly-1s - z 1300 2600
= - 1000 2000
3600 2.40 = z
= = 1800 4120
2600 250 -
= - 2200 4980
g 600 14:20
Physical venﬁcatlcm ogl 30.9-2&15teveal“e‘d ahecn?gl&qck of 3500 umtero'{r:’&z‘fe required to prepare store
ledger acmuntyb! WQightedAve:age Moei'hnd,_— = <SS i 7
,\_-_ ..\-—-;- S
B) M/s NK Ltgham\the rﬁamfl'ﬁcmre&qﬂ.CB udebﬁephones. ]J'ie«foﬂ‘o\gmg are the details of their
[ _operation dufing 2015 & = 3 SRRl RO S :\
Average menthiy market demand. __‘..x“ F m s o
- Orfledingcoat ="~ o < = .~ = ['Rg15D newrder <
Error e -"iﬂ:%pemnqumk_\
i e ) o ] .:k i
- *Economi.Orderquantity.and’ -
ﬁ s the wﬁﬂm&mm};ﬂw‘\
‘_’ '-__:ﬂi'\m: Tt O A
-'Ar \km W@P‘ @ LP Lﬁ-ﬁ-ﬁa‘ig—aﬁum-ed wage rate of Rs. 40 per hour. The standard time Per unit
. ‘f:ii' wmmnﬁwmqﬁ-a&i a machine man has been paid wages under the Rowan incentive

mmw earned-a

Page 3 of 6

é‘ﬁécmemourw rate of Rs.60 on the manufacture of that
earning and effective hourly rate, had been put on Halsey Incentive
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Q.3 (B) tandard output units
Time Rate Rs.2 Per hour
Piece Rate Rs.2.5 per unit
High Piece rate Rs. 3 per unit |
Standard hours in a week 50 hours

The production details of different workers are given below

A 32 Units.
B 38 Units
| c 40 Units >
| D 43 Units &
5 E 45 Units r =
1 Compute the earning of workers under Gantt’s Task Bonus Pian T S
: Ao SIS s
| Q3(a) 3 hours allowed to a worker to pmHga‘g__G ‘uri‘;t'sé_nd wa

| hours week the workerproducedl?ﬁ.ﬁrﬁts - X LK AP TS S
| You are required to calcu!ate thé total eammgs and effectwe hourfy ratg af earn;ngs“offhe worker under
the following incentive wage&ystem’s‘, = a0k P

1. Halsey (50%) system: — = .o Lo o SNPGRS
2. Rowan system o A AT A B : S ~
3. Emersonsefﬁclencysxstem B S s (T LT A EES
4 Barthsystem e N i

. A.r

- n %

~

Q.3 (B) From the folfowlng data‘prowded‘m you. fmd-out theiabour turnover rate by applying
1. " Flux Method R -

a2 Repiatgment Method E:I:' ; l\~- '_ ‘- ”— s \?\'

07

— .

3 SeparatronMethod S 1S

No ofworkers on the payroll = - et P o \?";-'- -
_ At'the begmn!ngofthe_month 4609_
~Atithe end of thg mqr?th -2000~

_.Durlngthemonm L X e 2 o ‘S

{..,_

" 20‘'workérs ieft;ﬁS\vorkersivere daschgrged and.zao workers were recruited. Of these 35 workers were
.recrmted in fhe mamies QithﬁSeﬂe@ving w“l'ule the rest were engaged for an expansion scheme

' Q4 \ A aompany has thﬂae prbdutttondepérﬂng‘ nts and two service de
partments. Distribution
- = oterheads |shsfot!tmss RS, e AS

S SR Productlon Department
S g o " PR P A Rs.14000
S ASRRS G o g8 Rs.15000

SR J'x-'\_:‘ Service Department
N A A s X Rs-9000
SRR - Y Rs.3000
L o -
3 The\ﬂﬁf'_}ﬁﬂ—?sfﬁf\smce departments are charged on 3 percentage basis which is as follows

= K =

e Page 4 of 6
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Paper / Subject Code: 81402 / Cost Accounting-I

cur t:eaa.:mea
Departments A B c X Y
X 40% 0% 20% . 10%
Y 30% 30% 20% _20% - ;
Apportion of cost of service departments by using
1) Direct Method g E s o "R
2) Step Ladder Method AT LT PP P
3) Repeated Distribution Method 2 ) o e U e g
4) Simultaneous Equation Method R Xoe e
5) Trial & Error Method ;;’_ o \-' O A ol ek
From the following particulars, mrnpm the _tgﬁﬂﬂg‘ralé orrl_@tbiné“fn;ta[leﬂih 2 snup, P 08
Cost of machine o P, 0 S BRSR5000° '; S EES TS S
Estimated scrap value AT "",;1-‘,@:‘_;;'.-{-’ fﬂs.ﬁhﬁﬂm S i - S e

(after expiry of life of 10 mrs} P gt e S f L3, o
Shop supervisor salary .. _\;: i e F{srﬁdﬁhqrmnmﬁ D
General lighting farthd‘ﬂu‘m oo 2t [ReS0per mdnfﬁ} Jq"._-;“ %
Rent&m:esoftha&tmpp‘emunrmf,- '.;*‘xﬁs.'silo oA S _--“-.4' i
insurance premium forthe machine- ~ = -ﬁanDﬂeﬂr@nnlh &
Estimated repalrs & mnlhfﬂmnce‘ékpen!ﬁ‘ -| Rs.200 peryear f‘ 2
Power consumption | gﬁw(ﬁnthne .-.:-"- 7 ' 3units per.hour N

i \-

Rate of power e el B 1) unltS“E'nmn
Estimated working hcurs pfttlt machlne ger 5 éum -." P
year . e B L S , ;

The machine accupies“ Lof th:e total ﬁqalnrg# thhew me._supendsor of the shop devotes X of the
time for supervising-the macﬁ]na otk 30 3,‘ T gn A
ﬁ&'\l!'.ral lighting. upgn&m are tofbe ﬁﬁoﬂhﬁdbamgwk of floor area.

Mﬁeﬁ lmdr.&ncenm #Edaﬂg nfjuh;'iﬂ'llﬂb?mlﬂ! ho"'th manual & machine operations? The budgeted (7
P Efoﬂt &lnss Augpun“t formﬁpgdad‘zm{g‘imﬁnsﬁllom 4

g B

he il 38 i

Sk ﬁa : ,_; i e _ : Rs,
e '*}ﬁ__f | Direct Material 150000
E “_ =" I"'-::' ,_"- -‘-_, Add -Direct Labour 100000

"5 o | Prime cost -_

S o~ Add - Production Overhead 3 _
> Cost of Production 550000
| _Add~ = Administrative, Sﬂlir_lglﬂistrlhuﬂnnamh“d; ' 20¢

. Toﬂ]ﬁgﬂ e

S Page s of 6
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Paper/ Subject Code: 81403 / Financial Management-1 P /_ }

= e
SO RIS T sdles TAETD

[2Hrs 30Mins| Total Marks: 75
Instructions: )

1. All questions are compulsory subject to internal choice.

2. Working notes form part of your answer.

3. Use of simple calculator is permitted,

QIA. Fill in the blanks (any 8) (08)
1. The returns are always paid on the --------- of the securities.
2. European Depository Receipts are issued and tradable only in ----------- -
3. --------- means legal mortgage of specific assets.
4. Debenture holders are ----------- of the company.

S leverage indicates the effect on the earnings due to rise of fixed cost funds.

6, - method of valuation is not applicable in case of going concern which is not
nearing liquidation.

7. -----—-- risk is the possibility that increase in the cost of’ living will reduce or eliminate

the returns generated.
8. Trading on equity is possible by raising ----------- in case of profitable companies.

9, e source of finance does not bring in the cash but conserves the cash outflow
within the business firm,
10, —mommemeeee risk is also referred to as diversified risk.
QI1B. Match the column-(any 7) (07)
A B

1. Maximising Social Wealth a. Market Value
2. Term Loan b. Bird in hand
3. Share Capital 7 c. _Internal Source of Finance

4. - Yield Method d. Retention 40%
5. Dividend Payout 40% e. High cost of ﬁnancm&
6. Break Even Point f. Retention 60%

7. Depreciation g Financial Management

8. Time Value of Money h. Pow cost of financing
9. Public Deposits i. No profit no loss
10. Dividend Payout 60% J._External Source of finance

Q2. . The Balance sheet for Suraj Ltd as on 31* March 2017

f e : is provided calculate EPS and
All three Leverages using following information

(15)
Liabilities Rs in Lakhs Assets i :
Equity Share Capital (FV 10) 100 Fixed Assets = ll.ll 5]_(')a S
| Retained Earmings ! 20 Current Assets 50
15% Debentures 60
Creditors 20
200 200

Page 1 of 3 l
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Paper /Subject Code: 81403 / Financial Management-1 F NBA |
Q.P. Code: 24576;

Other detnils are ns follows =

Fixed Costs (Excluding Interest) — Rs 40,00,000

Variable Operating Costs Ratio = 60%
Total Assets turnover Ratio (Sales/ Total assels) ~ 1,5 times and Income tax rate— 25%

OR

Q2. Compute all the leverages for following two companies with

the help of information
given below

(15)
Particulars Varun Ltd Siddarth Ltd |
Selling price per unit Rs 18 Rs 20
Contribution per unit Rsl12 Rs 10
Fixed Costs per annum Rs 25,000 Rs 30,000
Interest paid every quarter Rs 6,000 Rs 8,000
- Qutput Produced 15000 units 12500 units
Output Sold 10000 units 9000 units I
: & a7
Q3, Suraj Ltd has furnished you with the followin

g details you are required to ascertain

weighted average cost of capital under book value weights and market value weights (15)

Type of Capital - Book Value Market Value Cost of
Capital
Equity Share Capital ' 8,00,000 10,00,000 10%
Preference Share Capital 4,00,000 4,00,000 12%
Retained Eam'mgi e 215005000 , - 10%
Debt Capital T 7,00,000 6,80,000 8%
Total g _20,00,000 ___20,80,000
OR

Q3. Calculate WACQ'T&;LK Ltdiwith the help of information supplied below — (15)

Source of Fi.i,nds

_ ; Amount in Rs
13% Loan funds LAl . 26,00,000
Equity Share Capital (FV 10) 24,00,000
11% Preference Share: Qapitél,‘('._FVl 00) 10,00,000
- __Total’ 60,00,000

I, Taxrate —40%

2. Equity shares are‘traded in the mark

{ etat Rs 35 and dividend paid this year is Rs 5,
expected dividend is Rs 5,50 per s

hare and expected growth rate is 10% p.a.

g5
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_ Paper/ Subject Code: 81403 / Financial Management-I f \’l@//} !

Q.P. Code: 24579\ 5

Q4A. Find the present value of net cash flow using discounting factor as 15% with the help of
information given below - %

Yeear Net Cash flows
= (in Rs)
1,80,000
1,70,000
1,45,000
1,24.000
1,10,000
1,02,000
95,000
92,000

00| =1 | [Lh B | L (B =

Q4B. Charu invested Rs 2,40,000 at annual rate of interest.of 10%. What is the amount after 3

years if compounding is done annually? (05) = -
OR 7
Q4A. Fill in the missing values B (0 R)
Sr. no Net Cash Inflow( Rs) " PV Factor Present ‘(f’alue of Cash Inflow(Rs)
il nE : 0.909 | _ 1,81,800
2 6,50,000 0.826 . n
3t n 5 0-885 2,21,250
a 175000 =N 1,39,475

Q4B. Calculate the amount if Rs 10,00,000 is invested for

year at 6% compounding to be
done

(07)
a. Annually
b. Semi annnally
c. Quarterly.

]|

QSA. Discuss the role and function of treasurer and controller in an organization. (08)

Q5B. Discuss the features of debentures as a source of finance to the company (07)

. OR
Q5. Write Short notes (any 3)

(15)

Profit Maximisation

Internal Funds as source of finance
Combined Leverage

Flotation Cost

Break Even Point

B
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: . Paper / Subject Code: 81904 / Business (.‘o:\rjn:jl;wa‘;_‘i"" A MACOMA o5
' gub - gvd Q. P. Code: 12168

.
Total Marks: 75 marks Time: 2 V4 brs.

N.B. All questions are compulsory

I (A) Match the Columns: (Any Eight) (08 wearks)
(1) Encoding (a) Mass Communication
(2) Blogs with Photos (b) Needs Mental Discipline
(3) Kinesics (c) Introduces the Sender to the Receiver
(4) Hierarchy (d) Levels of Authority and Power
(5) Semantic Barriers (e) Providing Lip Service
(6) Fake Listening () Involves the use of common symibols
(7) Good Listening (g) Photo Blog
(8) Letterhead (h) Body Language
(9) Post Script (i) Related 6 Language
(10) Address to a Large Group (i) Extension of the Body of the Ldler
(B) State whether the following are True or False: (Any Seven) & (07 marks)

a) Jobs may be advertised through websites, but applications should never be sent through e-mail.
b) Use of Jargon shows command over language. .

c) Listening enables understanding of a message. c

d) A communication gap can be created due to a psychological barrier to.communication.

€) A virus protection software scans incoming mails. '

f) The Inside Address isa compulsory part of a business letter.

g) Grapevine is'a formal channel of communication.

h) Communication by touch is a type of non~verbal commmucauon.

i) [Email'is a slow means of communication.

i) _Commumcahon should result in an understanding response.

2(A) Define _éommgnicaﬁan i opiea its process with a labelled diagram, (07 marks)
3 (B) Llst my.ﬁve advgﬁmggs-and di'sadvantages.df Writicn Communication. (08 marks)
: : .OR
: (A) Dascuss and’ explam mn deunl Vemml Communication. (07 marks)
5 (3) ‘,L:s;any _ﬁve advaniagmand dlsa.dvamagm of Oral Communication. (08 marﬁ)
= . ‘\-.\_ > £

Fa S L . ﬂ Page1of2
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Paper / Subject Code: 81904 / Business Communication-L.

Q. P. Code: 12168

3. Explain the term Business Ethics with special reference to Corporate Social Responsibility. (15 marks)
OR
List and explain any five Psychological Barriers to Communication and explain how they (15 marks)

can be overcome.

4. (A) A leading multi-national company requires Management Trainees for its newly - (10 marks)
opened branch at Mumbai. The candidate should be a pqst-gradua(s'\yith a_mi.nimum

of 02 years work experience and should have excelledtbomﬂnmicatio'n skills: Apply -'
with Curriculum Vitae to P.O. Box No 123, The Times oqudla Mlnnbal Use t.he
Complete Block layout.

(B) You have received an offer for the position of a Senior Sales Execunve at U Foam & {05 marks)
Mattresses. Write a Letter of Job Acceptance. Use the Modifie ed Block layout. -

OR

(C) Draft a Letter of Application with Cum'culum Vitae for the post__o'f:_ﬁ Company (10 marks)
Secretary at Fair Cosmetic Company Private Limited. U;e the Cqméle;e i310ck layout.

(D) After a commendable service as a Personal Secretary for the past lb years, you (05 marks)
have decided to quit-your job due to unavoidable domestic ci;cﬁmslances.
Write your Letter of Resignation. Use the Mbdiﬁed Block layout.

5. ‘Write Short Notes on the followiﬁg; (Any Three) (15 marks)

(a) F%ack . |
(b) Education as an Objective of Communication
(c) The Importance of Listening '

(d) lné_ider Address-and Salutation
(e .Ct}mmunicati_an by Touch

"2—4‘ Page 2 of 2
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e
Time: 2 4 hours MARKS: 78

N8B @) All questions are compulsory
) Figures to the right indicate full marks

1. (A) Choose the correct alternative (any elght) (Q8)
® In India the state of 3 has the lowest gender ratio,
(Punjab, Haryana, Bihar)
() Shwetambar and Digambar are the two major sects 0'!‘ e v
(Sikhism, Jainism, Buddhism) 3 35 A
(W)  Marathi belongs to language family, - ~
(Dravidian, Indo-Aryan, Austrie) AR Oy
() Deficiency of Vitamin . May cause blindness. - O
(A8, Q) o ' 3 _\
v) The practice of untauchability is prohibited l'n-luti_la by &r'iitl‘e ,__ of the
Constitution. ' 3 RGNS
(15,16,17) X - S
(v)  Demand &:r-'\‘sfm of the sail* Is an example cal B )
(communalism, casteism, regionalism) SV
) = . __has t\he-ﬁr‘mipdm(.to'mte‘r\pr‘at the Constitution.
(Legislature, meumg,md}ciarg) i >
(viid g'ccor;ﬂhg’:to\!n\cllqn Co’ﬁs_ti_tu__tion thereare types of emergency.
o (two, three, four) O
X (bd The word S : ‘implies'_équal treatment to all religions.

(sovereign, secular, socialist)

(x)- - ?mctm‘\:ati RSj was g_u\rér‘n constitutional status by Amendment Act.

N O OR T R,
S () _Ststﬁ‘\wh‘eﬁfﬁe' the following statements are True or False (any seven), (07)

SRR [ R The Constitution of india recognizes 22 languages.
= i) . ‘Eﬁ_glis_h is the secondary official language of Indian Union,
i), ‘Maharashtra was the first state to be formed on linguistic basis.
S ) _\-‘{‘hé\tefﬂls ‘Secular’ was added to the Preamble of Indian Constitution by 44th
S R Amandment Act.
~{v} - Tachomaisa serious form of conjunctivitis.

Cemer o o Page 1 of 4 ﬁ
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Paper / Subject Code: 81405 / Foundation Course-I

Down’s syndrome is a defect due to extra chromosome.
Indian Constitution does not confer double citizenship.

(viii) Fundamental rights are justiciable in nature.
(ix) Indian Constitution has adopted Parliamentary democracy.

(x) Trinamool congress is a national party.

(vi)
(wvii)

2. Explain the causes and consequences of declining gender-ratia in‘lndja.
OR gty NROES
Examine the various problems faced by the people with disabilities_in _India-._

3. Discuss the reasons for communal violence in modern Indla Suggest\measyres to
overcome the problems of communalism. .- SPESEORSH G
Explain the various issues related to regional conflicts in India.* = < X

4. Discuss the significance for Fundamental Duties as mcorporated m lnalan Constltut!on

(15)

- _(.15) _

PSS NS (15)

OR : S ST A
Explain the outstanding features of Indian Constitution. SoeeSa

5. 73" Constitutional Amendment Act ensures democratic part:cnpatlon at the grassroot

level’ - Discuss. VNS (15)

OR
Write short notes on-any three:

() Rural-urban divide in India. _ :
(b) Religious diversity in:India. '\ L3 T NS
(c) Portrayal ofwamen in media ANE :

(d) Linguistic conﬂlcts inindia
(e) Features of Indian party system

R T T I I
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Paper / Subject Code: 81409 / Commerce- | 3
Swuls I~ (e e

Max marks: 75

Duration: 2 1/2 hours
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D)
2)
3)
4)
5)
6)
7
8)
9)
10)

NOTE: i. All questions are compulsory.
ii.Figures to the right indicate full marks.

111111

Match the Column: (Any 8)
Research and Development a. Business Ethics

Code of Conduct b. 1956
MSMED Act ¢. Responsibility Towards Employees

Audit Committee d. Technological Environment

Indian Companies Act e. Internal Growth Strategy

FDI in Insurance it Cdrporate Governance

FDI in Gambling : 2. 2006

Fair Wages : h. 49%

District Forum 1. Not Allowed

Diversification _j, Co_mplaints upto Rs. 20 lakhs <

State whether the following stateinents are true or false (Any 7)

Business enterprises do operate within a vacuum

Business objectives are the future destination of an organization

Business must go on irrespective of favorable or unfavorable environment

Demographic: envirdnmenbis‘import\ant'bec_au\s‘é' "people make up markets".

Em‘rimnn{en'_t‘al analysis does foretell the future

Ethical climate is unspoken understanding

Ecolegy is also described as environment biology

Marketing audit is within the scope of social adult

Indian industries are becomingglobally competitive due to support of EDI ;

CSR makes_xbusineSS"accollntable for its actions

Discuss features of business objectives.
Explain briefly various components of business environment,
OR

Discuss features of Corporate culture.

Enumerate the benefits of Environmental scanning 7

Page 1 of 2
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Paper / Subject Code: 81409 / Commerce- I : :
ThE »
N 8 . - ‘___._1' ;
: Q3 a B.;phm entrepreneurship as career option. 3 i | 8
_ b.  What is meant by consumerism? Statemdexplainmfbﬂm 7
OF . AN |
Q3 a &mhmmemomewmwnmbmm 4 P
3 7

b.  Write a detailed note on business ethics. 3
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(Total Marks: 75 5 < =
- (1) All questions are compulsory. B RN S
(2) Figures to the right indicate full marks. s S S RO A ST D 8

(3) Draw neat diagram wherever necessary.
(A) State whether following statements are true of fa"lge (AnyLElg\ht}

(2 ' Hours)

(1) An cquatmn is true only for a specific value
(2) A variable is an identity whose quantlty
(3) Demand curve always slopes upward

(4) Geometric method measures the ela’strmty of. d.emand:ata po'

curve. :

(5) The concept of iso-quants is used to’ expla.m
(6) Economies of scale help to tedg?:e the cost Q‘f prodqctl ns),
(7) A monopoly firm and industry are- Jdennqa] e SraA
(8) A firm under perfect compeut:lon* incurs’ h"av;y seng ggsi\: “ '\ '
(9) Under marginal cost pncjng, p“m:es are de e“ on’th\egb St
only. '\ L .\ P i

7
1 E 7.
2. | Graphs - ,_ SRR
3 Demand.ﬁmcﬁnn : N exﬁbest “alternative use
4 RS | Few scllers =
5 E WO .Rafers to change in one variable due
TS ,_\ * | to'change in other variable
"QPEC

!’ {"Monopoly

| Cost incurred in producing an
additional units of output
long-run production
show the pictoral presentation and the
relationship between two variables

)g;gplmn‘ﬁiefﬁamre‘hf‘amand curve under perfect competition. 8
lsc'ussﬁ:@“typas s of cross elasticity of demand. 7

OR

Pagelof2 fl
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(C) The demand schedule for an industry in a purely compet'i'tiy:é‘ mmgeimgfvm as»\

follows —
Q =500 -3P

Q=-3+8P
Questions-
1. What is the equilibrium price and quantlty m tQE: mz;rke‘t‘?\ 3
2. What is the total expenditure mcurred-by the con e[s9
3. Calculate the total revenue of the.,

3. (A) Explain the law of d1m1msﬁip_g ma'i’giﬁa} netum ‘vhhth j,;h ) :
illustration and suitable dlag[a.m R $ES o

(B) Discuss the types of mternal ecopbﬁn;_:s o?*scale,,

Chc:k 3

4@‘2': '

(C) From the followmg ogtﬁm
TQ— 11)0«3: 5(1Q+
Questions- ’;"i S 5
1. Calmilata’]:FC : WQ\,Z%\(\@,‘Q 2

2: Fn_ad “out A-C A']:C,_aﬁz‘f &FC& t

|;f... ‘A -’\\

(D) ng}é

=

SR ‘c5 2
‘o C ).mscusg}tl\xe-.
\legf wpslce }lﬁial

~] 00

$ oj‘ #
37, i é?r BISE!{SS‘ Hiqmetgi‘s and‘ ﬁemegts of full cost pricing.
(‘B,) Explhm‘ thacapqggt oft[ansfer pricing without external market. 7

\'-- \J \__, a)-\:} *1 \_r,\\\OR

o’-.\

short got_‘es (:Any"Three)
a 13malys:s in decision making.

15

dg 1@”?‘5
in ﬁém’{lﬁd curve.
‘ Qf' pnce discrimination.

5 o o ok ok e ok e ok ke o ok ok ke ok ok ok ROk
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